PACKING LIST FOR FSV254MK?2

Box 1 - FS254MK2

© 00 N O Ul b WDN P

el ol el
w N P O

Part No.

FSV254MK2

000-157-496-10
000-157-496-10
001-437-000-00
100-372-550-10
000-166-370-10
000-166-744-11
000-167-452-10
000-167-401-10
000-167-476-10
000-162-825-10
500-310-040-10
000-199-245-17

Rev 4-24

Wt: 3000 Ibs. Dim: 150" x 39" x 53"

Description Quantity
HULL UNIT 1

GLASS FUSE 250V 1A 2
GLASS FUSE 250V 2A 2
CD-R WITH CALIBRATED DATA 1
BLIND SEAL N2.5 1
O-RING 1
CRIMP ON LUG 3
FLAT WASHER M20 41
SPRING WASHER M20 24
HEX NUT M20 48
HEX HEAD SCREW M20X120 17
COPPER STRAP 1
INSTALLTION MANUAL 1

Page 1 of 1

For Internal Use Only

Serial No.
Checked By:
Tech
Date
Yes Remarks
SP10-04201
CP10-08300




